2] You are a particularly bright caveman tired of living in an unheated and unlighted cave. In
front of your cave there are 2 geysers (continuously flowing fountains of hot water). Geyser
A puts out 1 kg/s of water at a temperature of 310 K while geyser B puts out 0.15 kg/s of
water at a temperature of 370 K. The ambient temperature is 290 K.
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Geyser A: ;
1 kg/s of water at 310 K (.15 kgfs of water at 370 K

a. If you wanted to heat your house using one of the geysers which one would you choose and
why? Justify your decision with the appropriate calculations,

" b. If you wanted to use one of the geysers to power a heat engine that could be usec} };oqprziuc;lel
- work (to break rocks for example) then which geyser would you choose and why? Aga

justify your answer with the appropriate calculations.
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